Grade 11-Mathematics
Function Changes
Exercises for Home

Exercise 1

1. Page 84 of your textbook Exercise 1 - number 2
2. Page 86 of your textbook Exercise 3 — number 2 to 4

Exercise 1 Answers
EXERCISE 1 FROM TEXTBOOK NUMBER 2.
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g(x)= -8x? — 1
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2.5 h(x) = 8x2
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2.7 k(x) = 8x2 +1
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EXERCISE 3 FROM TEXTBOOK
2. y=4(x+2)>1
y = 4x%+16x+15
y = (2x+3)(2x+5)

SHIFT FROM ORIGIN-—

y = 4(x+2)-1 4
2 units left and 1 unit down

3. y=-(x+5)2+16
y = -x2-10x-9
y = -(x2+10x+9)
y = -(x+9)(x+1)

SHIFT FROM ORIGI —
y=-(x45)2416 4
5 units left and 16 units up

4, y=-(x-372+4
y = -x246x-5
y= - x2-Bx+5)
y = -(x-5)(x-1) _—

SHIFT FROM ORI GIN
y=-(x-3)2+4 4
3 units right and 4 units up
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Exercise 2

Exercise 3

1. Consider f(x) =—+4

a. Describe the shift from the origin

b. Write down the asymptotes of the function.
2. Consider f(x) = —ﬁ— 1

a. Describe the shift from the origin

b. Write down the asymptotes of the function.
3. Consider f(x) =—-3

a. Describe the shift from the origin

b. Write down the asymptotes of the function.

For the following Functions determine the
following
A. SHIFT FROM THE ORIGINAL
FUNCTION f(x) = a*
B. ASYMPTOTE
C. Y-INTERCEPT
1. f(x)=52*%2+3
2. f(x)=—-43*"*2-1
3. f(x)=25%1-2

4. f) =31 +1

4. Consider f(x) = 34 Answer for Exercise 3
x-1 1.
a. Describe the shift from the origin A. Shift - 2 units right and 3 units
b. Write down the asymptotes of the function. 5 ;l\p e v =3
c. Write down h(x) if h(x) is the reflection of f(x) about the x-axis - ooymprotery = o o
d. Write down k(x) if k(x) is the reflection of f(x) about the y-axis € yrereept- (When x=0) (0:4
2.
A. Shift - 2 units left and 1 unit
Exercise 2 Answers B. ig;v:qptote -y=-1
1. C. Y-Intercept - (0;37)
a. 2unis right and 4 unis p , > A. Shift - 1 unit left and 2 units
b. x=2 (Vertical Asymptote) and y = 4 (Horizontal Asymptote) down
) B. Asymptote -y =-2
' 3 C. Y-Intercept - (0;8)
a. Rewrteas f(x) = —-1 The shiftis 3 units right and 1 unit down. The -4 4,
L ) _ , . Shift - 0 units left and 1 uni
the top indicates the quadrants the graph will be in. In other words, it Ao unis eftand Lunt
influences the shape. / B. Asymptote -y = 1
C. Y-Intercept - (0;4)
Exercise 2 Answers
—/ « b. x=3andy=-1
3.
/ a. 2 units left and 3 units down
b. x=-2andy=-3
4.
REMEMBER THE FOLLOWING a. 1 unitright and 2 units up
b. x=1andy=2
-3
Functon change Shif . fl)=-742
fi)+c Shifthe gaph of ) up ¢ uis The Reflection about x-axis leaves  as is but changes the sign of the enire function. )
flx)-¢ Shift the graph of f(x) down ¢ units oo (3 Theasymptotesarenow
o) =-f(1) = gl==42% :
fiee) Shiftthe graph of ) left units et ) t=landy=1
: i ahtc uni AT
fr-¢ St he gaphf gt s d.  The Reflection about y-axis leaves y as is but changes the sign of the x-value.
fix)
F{x) Reflect the graph of f{x) about the x-axis (1) = f(=x) :‘ﬁ” —_——
f(x) Reflectthe graph of f{x) about the y-axs ) =fl) =12 | The asymptotes are now
)  x=landy=2
flex) Compress the graph of f{x) horizontally by a factor of c. k)= f=x) ZEH « ,_,.,—r#—-———-—ﬁ—a
¢flx) Stretch the graph of fx) vertically by a factor of c. reeE ST e




